EARAROBEEIERT — 2 N— IBISH —F

20135F2A6H (K) 24m &4 E3H

(NS C144 C14 ¥5R—M

‘ (%] 8 ‘ (sl — | 4 (5) 14000 RE

[A&E£] 1 7% :130,000 @ ~ 23%&:24,000 W  33#&:9,000H

47%:6,000M ~ 5&:0M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 0| AE=RUNA L o4 Ebg?g? 1:(2_8).4 3442 |37.9| — | 2 (4723; {LIE%_(%&E)
RiFaTLEN BT ATY—F1> Y| WOsus
N KIHEE :28. 20— . = FHEE (BHE)
2 4| xO> i 4 Gl 1(72?:;5 2-2-2-1 |38.3 4 a:g;t b
LI TATIA LN BFvoTL—"7 Il #Eth
. R o [iE) BB :28. -3-3- . — ABEL (BEHE)
3 NEIPERE R it 4 B 1(228>9 4-3-3-4 | 38.3 3 (5_239) nan
LTIy vk—y B:RFHRFUYAK TS
== . s o4 | AFFBR 1:29.1 1-1-1-3  |39.0| — 1 446 | AEED (BHE)
40111 77740 54.0 (11/2) (-6) BREEIER]
RHISRIS T — BiSATLTHT— FHRE%S
S, . 4 4 | FEREEA 1:29.5 7-6-5-6 | 38.5| — 5 442 | BEEL (BHE)
5|8lg| ¥v>&x> 54.0 D) (+4) | KEFE
L7278 BT VT4 42— =Y Tr—L
SILY S ft 5 | BEXE 1:30.1 5-5-6-5 |39.0| — 7 430 |HERARIE (BEE)
EH 6| NNVTTR 54.0 3 © | @) 77-xrEva
R:FRE Y IINT— B:IA—HIT 1 BT
N S = o — RFRAARR : —8-8- — BORE (BHE)
slglg| vnin—51=29 it 6 b= 1.(330).8 8-8-8-8 | 38.9 8 12(7); s
RV by THY BTIFFN-—b +THES
R SLE— : —7-7- — FILEE (BHE)
glsls|Hrvnesyy i 9 o 1.(311).0 6-7-7-7 | 39.4 9 (4:3“5) %ﬁu@)}?
TRy Ixv> B:SITT7Izovar INCPERPAZ ¢ ]
- R HNEEFIIE :32. -9-9- . — WEh— (BHE)
ol7l7|573—7174> it 4 Ine 1(392)9 9-9-9-9 | 40.2 6 :1_210) L (BRE
R:E/ITIVYR B:RU—3I>FTa— HIS
® I—F—@EBIERL
13—7F— 1,4,2,3,6,5,8,9,7
Ao=5"= 1,4,3,2,6,8,5,9,7
T =35r= 1,4,3,2,8,6,5,9,7
41—F— 4,2,1,3,6,8,5,9,7
[ RN
B R 2 320™| | 71K 2-4 340/ | | B = 2-4 1,070 | | 3:&=4& 2-3-4 970/
# B 2 1504 2=3) 250 B E 2-4 1,1408 EE 2-4-3 6,590
4 210H 3-4 500M B H 2-4 1,960
3 140/

ABICOVWTRDTEEERROODE. TR LIV,




